Film Stock, Processing and Transfer				
Retail Pricing as of June 2022 (Expect a 10% discount for	student work)			
90 min Super 16 3 week shoot				
	Feet of film	Price	Total	
Film Stock (10:1 ratio) 90 minute movie	36000	0.55	\$19,800.00	
Film Processing	36000	0.25	\$9,000.00	
Film Transfer (2.5k scan)	36000	0.35	\$12,600.00	
			\$41,400.00	Film Total
30 min Super 16 1 week shoot				
	Feet of film	Price	Total	
Film Stock (10:1 ratio) 30 minute movie	12000	0.55	\$6,600.00	
Film Processing	12000	0.25	\$3,000.00	
Film Transfer (2.5k scan)	12000	0.35	\$4,200.00	
			\$13,800.00	Film Total
90 min Super 35mm 3 perf 3 week shoot				
	Feet of film	Price		
Film Stock (10:1 ratio) 90 minute movie	72000	0.78	\$56,160.00	
Film Processing	72000	0.25	\$18,000.00	
Film Transfer (4k scan)	72000	0.45	\$32,400.00	
			\$106,560.00	Film Total
30 min Super 35mm 3 perf 1 week shoot				
	Feet of film	Price		
Film Stock (10:1 ratio) 30 minute movie	24000	0.78	\$18,720.00	

Film Processing	24000	0.25	\$6,000.00	
Film Transfer (4k scan)	24000	0.45	\$10,800.00	
			\$35,520.00	Film Total
90 min Super 35mm 2 perf 3 week shoot				
	Feet of film	Price		
Film Stock (10:1 ratio) 90 minute movie	52000	0.78	\$40,560.00	
Film Processing	52000	0.25	\$13,000.00	
Film Transfer (4k scan)	52000	0.55	\$28,600.00	
			\$82,160.00	Film Total
30 min Super 35mm 2 perf 1 week shoot				
	Feet of film	Price		
Film Stock (10:1 ratio) 30 minute movie	17200	0.78	\$13,416.00	
Film Processing	17200	0.25	\$4,300.00	
Film Transfer (4k scan)	17200	0.55	\$9,460.00	
			\$27,176.00	Film Total

Camera, Lens	and Support				
Retail pricing	as of June 2022 (exp	ect a 5-10% dis	count for stude	ent)	
00	16. 2				
90 min Super	16 3 week shoot				
	Price Per Day	3 Day Week	Total Days	Total Price	
Camera	\$350.00	3	3		
Lens	\$1,200.00	3	3	' '	
Support	\$400.00	3	3	\$3,600.00	
				\$17,550.00	Rental Total
30 min Super	16 1 week shoot				
	Price Per Day	3 Day Week	Total Days	Total Price	
Camera	\$350.00	3	1	\$1,050.00	
Lens	\$1,200.00	3	1	\$3,600.00	
Support	\$400.00	3	1	\$1,200.00	
				\$5,850.00	Rental Total
90 min Super	r 35mm 3 perf 3 we	ek shoot			
	Price Per Day	3 Day Week	Total Days	Total Price	
Camera	\$500.00	3	3	\$4,500.00	
Lens	\$2,000.00	3	3	\$18,000.00	
Support	\$800.00	3	3	\$7,200.00	
				\$29,700.00	Rental Total
30 min Super	r 35mm 3 perf 1 we	eek shoot			
<u> </u>	Price Per Day	3 Day Week	Total Days	Total Price	
Camera	\$500.00	3	1	\$1,500.00	

Lens	\$2,000.00	3	1	\$6,000.00	
Support	\$800.00		1	\$2,400.00	
Зарроге	φοσ.σσ	3			Rental Total
90 min Supe	r 35mm 2 perf 3 we	ek shoot			
	Price Per Day	3 Day Week	Total Days	Total Price	
Camera	\$500.00	3	3	\$4,500.00	
Lens	\$2,000.00	3	3	\$18,000.00	
Support	\$800.00	3	3	\$7,200.00	
				\$29,700.00	Rental Total
30 min Supe	r 35mm 2 perf 1 we	eek shoot			
	Price Per Day	3 Day Week	Total Days	Total Price	
Camera	\$500.00	3	1	\$1,500.00	
Lens	\$2,000.00	3	1	\$6,000.00	
Support	\$800.00	3	1	\$2,400.00	
				\$9,900.00	Rental Total